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Unit 1 Test Review:
Learning Targets
A Tdenttyand corvectyus e equpment.
L. What do you use the following pice of lab gmert for?

o seae b. graduated cyinder
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3. Give an example wu/mhm abservation and o quanfitaive absersation.

”d pound [2F+
m o (vmum he frst week of schoo) did we take
sliative o quotitativeabservations
Descripheny
0 okt the enstyof a subsanc e 1 sl problns ad enty boown
Cotoces
5. the massof apiece of meal weighs 157 grams and fakes up 2.2nL of
space, hat i ts density? Use the fable
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6. TF you hove a lquid with o density of T
13g/mL and a ina 150mL jor, what i the T
mass of the liquid?
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7 Lead, 154
7. If you add 32 grams of Iron to a graduated
ylinder conining 100mL of water, what wil | 04 e
e vlume of the water inthe greduated
lnder be after th ron hs ben odded fo the finder. Use thedeniy o)
of iran n he table above. ) ) ]
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& Disingush betwean an rom, elemers, srope, and ion.

6. Potassium-39 and Potassium-40 are called_|S01 0D €/

9. Potasstun-39 and Potassun-40 havethe same mamber of TMOLUNS
but a different number of _|\( I

10 Anlctriclly neutelatoof Phsphorus (3 has LD proons and
5 electrons.

11, The ion Ba® have given up two £1CCL L1110

F Desrib th Jecoron,charge, nd massofprorons, nstrens, and lectrons
12. Drow o Bohr model of Carbon including profons, neutrons, and electrons.
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13.What isthe charge of aproton? PV neutrors_[10UIFA]
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15 Wi to b  prtons gt putons?
201N

16.How many neutrons does O-18 have? 19-8 - 10Neut

K. Use the peioic toble o determine the atomic mamber andatomiE

7. Whati the stonic e of nesio (4

18. The atomic number fells you the number of [/ and WYY o
anatom.
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21, s you go from 1op to bottom on the periodic table, what happens to the
radivs (size) of an atom?

Inerea)es

22 Wi of the fllowing elements has th largest rndm((LDB,G‘ F

23.Write electron configurations for the fallowing atoms.
Use the following order to help you:
1672572435734 34 °4p 557 4d 45 4 6p’,

. Silicon (i)
163252 2p%%° 2p?
b. Calcium (Ca)
(52217 2pv3? 3p® 452
<. Chlorine (Cl)
(52257 2pb32 255
BT —
24, Howmany valence siectrons da he fallowing atoms have?
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25, Draw Lewis dot diagrams for the elements inquestion 14 bove.
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26. List the colors ROVGBIV in order of ncreasing energy.
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27.Describe what it means for an atom 1o be "excited: i g
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M. Deserive b stams et ghetos.

29. What is a photon? “ s

30.Use the information from questions
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27. List the positives (what was accurate) and negatives (what was not accurate)
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